Coversheet

Why should we remember
‘Peterloo’?

|[PEOPLEISIHISTORY{MUSEUM]

Glossary

protest:

revolution;

reform:

Georgian:

Waterloo:

memorial;

universal representation:
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| Conversion Table ' | Conversion Table '
A =1 K-=11 U 21 A =1 K =11 U =21
B =2 L =12 V 22 B 2 L =12 V =22
C =3 M-=13 W =23 C 3 M=13 W =23
D=4 N =14 X 24 D 4 N =14 X =24
E =5 O =15 Y 25 E 5 O =15 Y =25
F 6 P =16 Z =26 F 6 P =16 Z =26

G =7 Q =17 G 7 Q =17
H =8 R =18 H 8 R =18
I = 9 S =19 I 9 S =19
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Code Breaker Answers

GROUP 1

ON WINDOW LEDGE

15 14

/23914415 23/

GROUP 2

IN THE LIBRARY
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Challenges

LO: Use historical vocabulary and ask historical questions

TASK: Discuss the images as a group and work out the keywords.

PACK 1

Keyword

O

PACK 2

Keyword

Bonus keyword

O O

Ask your teacher for your next clue
(She/he doesn’t have the next pack!)

PACK 3

Keyword

Bonus point: Name either of the two men

PACK 4

Keyword

Bonus keyword

O OlI0 O

FINAL CHALLENGE

Using some of the vocabulary you have discovered, ask three
historical questions that you would like to investigate:

1.

2.

3.

000

Grand total: O




Challenges Answers

LO: Use historical vocabulary and ask historical questions

TASK: Discuss the images as a group and work out the keywords.

PACK 1 O

Keyword G EORG IAN

PACK 2 O
keyword REVOLUTION

Bonus keyword INDEPENDENCE O

Ask your teacher for your next clue
(She/he doesn’t have the next pack!)

PACK 3

Keyword WAT E R LOO

Bonus point: Name either of the two men — Wellington/Napoleon

00

PACK 4

Keyword PRO | |:S |
Bonus keyword MANCH |:S | |:R

(Ask your teacher for an extra clue if you are stuck!)

O O

FINAL CHALLENGE
Using some of the vocabulary you have discovered, ask three
historical questions that you would like to investigate:

1.

2.

000

3.

Grand total: O




